
Exercise-7 
PRACTICAL CLASS 7 

for the Course 
 Laboratorio Analisi Dati 

2017/2018 
 Prof. A.Pompili  



1	
  

Here follows the code (RooFit macro yield.C) for this exercise. 
The first part is: 	
  

Histogram 
to work on	
  

Input file	
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Part of the code to execute the not extended ML fit :	
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Part of the code to execute the extended ML fit :	
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We obtain both not-Extended & Extended ML fit : 

You can check that difference is negligible. 

Take note of the uncertainty (by MINOS) on the yield: 2925±175⇔ [2750,3100]
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Part of the code  
to obtain the  
Likelihood & the  
Profile Likelihood  
ratio for the nsig  
parameter : 



6	
  

The obtained plot: 



[From MINOS:                                  ] 
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The obtained plot : the best estimate for nsig  and the MINOS error :   

2925±175⇔ [2750,3100]
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